KENDRIYA VIDYALAYA, RBNM, SALBONI
Holiday Homework
CLASS 9TH 
SUBJECT: SCIENCE (विज्ञान)
Name:  _______________________________________ 	Date : __________________                                        Roll no_____________
Time allowed: 180 minutes								Maximum Marks: 80

General Instruction :
i) Question paper Contain  36 question in three sections A , B and C. 
ii) Section A contain 1 marks question from 1 to 20. 
iii) [bookmark: _GoBack]Section B contain 3 marks question form 21 to 30. 
iv) Section C contain 5 marks question form 31 to 30. 
v) Q 11 and Q 12 are assertion and reason type question. instruction are give at place of question in question paper. 
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31. (a) v::“l? venfymg the 1?_1W of Qonserva.tion of mass, a student carried out a reaction between sodium
chloride and silver nitrate in a conical flask. Name the compound which will form as precipitate.

(b) Define formula unit mass of a compound. Calculate the formula unit mass of the following
compound:

(i) Na,C0O;.10H,0 (if) CuSO,

[At. mass of Na = 23, C = 12,0 = 16, Cu = 63.5, S = 32 y]
(c) What is meant by unified mass.
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Or
Define atomic mass unit.
Distinguish between molecular mass and molar mass.
Give an example of
(/) diatomic, and (i) triatomic molecule of compounds.
Calculate the number of oxygen atoms in 0.10 mole of Na,CO,.10H,0.

From the symbol “lgAr, write down the number of neutrons in the nucleus of an atom. Also find

the number of electrons, protons and its valency.
Write the main postulates of Bohr’s model of atom.
Derive the equation of motion v = u + at, using graphical method.

A train starting from rest attains a velocity of 72 km/h in 5 minutes. Assuming the acceleration
is uniform, find

(/) the acceleration.

(1) the distance travelled by the train for attaining this velocity.

Why is the ceiling and wall behind the stage of good conference halls or concert halls made
curved?

Which property of sound leads to the formation of echoes? Briefly explain.

What is reverberation? What will happen if the reverberation time in a big hall is too long? How
can we reduce it?

Or

A sound wave has frequency of 3 kHz and a wavelength 45 cm. How long will it take to travel
1.8 km?

Define amplitude and give its SI unit.

How is frequency of wave related to its time period?
State two factors responsible for weathering of rocks.
Why is thé biosphere called the largest ecological system?
Name a pollution free source of energy.

Why is mitochondria called ‘power-house’ of cell’? Give three similarities and one difference between
mitochondria and plastid.

Or

What are the main functional regions of a cell? Explain with the help of a diagram.
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1. Choose the correct statement out of the following.

(a) Conversion of solid into vapours without becoming liquid is called evaporation.
(b) Conversion of vapours into solid without becoming liquid is called sublimation.
(c) Conversion of solid into liquid is called sublimation.

(d) Conversion of liquid into vapours is called fusion.

- Rutherford’s scattering experiment fails for very small scattering angles because
(@)
(®)

whole nuclear charge of the target atom is not screened by its electrons at all.

the impact parameter between the a-particle source and the nucleus of target is very large as
compared to the size of nucleus.

(c) the velocity of a-particles is large.
(d) the gold foil is thin.

Or
Which of the following statement is correct about proton?
(a) It is a nucleus of deuterium
(b) Itis an ionised hydrogen atom
(c) Itis an ionised hydrogen molecule
(d) a-Particles consist of He* ions

. Air is a mixture of gases with the following gas in maximum percentage
(a) Nitrogen (b) Oxygen
(c) Hydrogen (d) Carbon dioxide
4. Continuous use of fertilisers can destroy soil fertility because
(a) organic matter is not replenished.
(b) microbes in the soil are harmed.
(c) soil becomes hard.
(d) both (a) and (b).

. For a uniformly accelerated body with initial and final velocities as x and v ms~!, the average velocity
is

(a)
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_ The least value of apparent weight of a body in a fluid is

=0
(@ >0 ®) | | |
() <0 (d) depends on the density of solid and fluid

The diseases where microbes are the immediate causes, are called

(a) infectious diseases (b) non-infectious diseases

(c) chronic diseases (d) acute diseases.

. Kingdom Fungi are

(a) Prokaryotic, unicellular
(b) Prokaryotic, multicellular
(c) Eukaryotic, unicellular
(d) Eukaryotic, multicellular.

. A man holds and displaces a 20 kg mass horizontally in his stretched hand.

(a) He does zero work against force of gravity

(b) He does 200 joules of work per metre

(c) The work done against gravity cannot be estimated but non-zero
(d) The work done against gravity is equal to the muscular energy.

Sound of crackers is heard during festival days, but the sound of supernova explosion in space is not
heard on the surface of earth because of

() large distance
(c) lesser gravity

(b) absence of a medium

(d) the influence of the other planets

Direction (Q.11 and Q.12): In the foliowing Questions, the Assertion and Reason have been put for-
ward. Read the statements carefully and choose the correct alternative from the following:

(a) Both the Assertion and the Reason are correct and the Reason is the correct explanation of the
Assertion.

(b) The Assertion and the Reason are correct but the Reason is not the correct explanation of the
Assertion.

(c) Assertion is true but the Reason is false.
(d) The statement of the Assertion is false but the Reason is true.
Assertion: Cell is the structural and functional unit of life.
Reason: Robert Hooke coined the term cell.
Assertion: Cork floats in water.
Reason: An object will float in a liquid if its density is less than that of the liquid.
What is the physical state of water at 250°C?
Name any two air-borne diseases.
When does a work done by force can be zero?
Or
By how much will the kinetic energy of a body increases if its speed is tripled?
Write the main function of xylem.
The energy of a body due to its position or change in shape is known as

energy.
The temperature at which a liquid changes into gas or vapour is known as
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If a displacement-time graph is drawn, then it will specifically represent speed. [True/False)
In Thallophyta, sex organs are simple and single celled. [True/False)
(@) Why do cold drink bottles breaks when kept in freezer? .
(b) Describe an activity to prove that particles of matter are continuously moving.
(a) State differences between homogeneous and heterogeneous mixture. Give one example of each,
(b) How will you separate sugar and salt?
(c) Why crystallisation is better than evaporation?
Or
(a) Define Tyndall Effect.
(b) Why is water considered a compound? Mention two points.
(a) Why is petroleum refined by fractional distillation?
(b) How are physical changes different from chemical changes? Give one example of each.
(c) What is meant by emulsion? Give one example.

) . 2
A force of 5 N gives a mass m , an acceleration of 10 m/s? and a mass m,, an acceleration of 20 m/s”.
What acceleration would it give if both the masses were tied together?

Suppose the mass of the earth somehow increases by 10% without any change in its size. What would

happen to your weight? Suppose the radius of the earth becomes twice its present radius without any
change in its mass. What will happen to your weight?

Or

(a) Centripetal force is required for a body to move on a circular path. What provides this force to
the moon to move around the earth? Write an expression for it.

(b) A stone is released from the top of a tower 19.6 m high. Calculate the final velocity just before
touching the ground.

Discuss the law of conservation of energy in context of a freely falling body.
(a) Define disease.

(b) Explain briefly the two groups of causes of diseases.

Or
Name diseases which are caused by — (two for each)
(a) virus (b) bacteria (c) protozoa

[CBSE 2012]
List in the tabular form any three differences between the Aves and the Mammalia group.

(@) How are diseases spread through water?

(b) What is the importance of vaccination? /
(a) Name the months during which Kharif Crop is grown. //
(b) List any four factors for which Crop variety improvement is done.

(a) While verifying the law of conservation of mass, a student carried out a reaction between sodium

chloride and silver nitrate in a conical flask. Name the compound which will form as precipitate.
(b) Define formula unit mass of a compound. Calculate th
compound:

(i) Na,CO,.10H,0 (i) CuSO,
[At. mass of Na = 23, C = 12,0 = 16, Cu = 63.5, S = 32 u

e formula unit mass of the following

(c) What is meant by unified mass.




image4.jpeg
19. If a displacement-time graph is drawn, then it will specifically represent speed. [True/False)
20. In Thallophyta, sex organs are simple and single celled. [True/False)




